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SAKAP

Key Agreement Protocol with Provable Security in Wireless Network

ZHAO Zong-qu, LIU Yan-xia
(College of Computer Science and Technology, Henan Polytechnic University, Jiaozuo 454003)

Abstract In the distributed computing environments such as wireless network, it is critical to establish a secure session between communicators.
A mutual key agreement protocol, namely Symmetrical Authenticated Key Agreement Protocol(SAKAP), is proposed to authenticate identities and
establish secure session key between symmetrical users. The security of the protocol is proved in Random Oracle(RO) model, and its performances
are analyzed. SAKAP has the advantages of provable security and considerable feasibility over other protocols.
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